Solution #1

A
'(i/ condynle oﬂo I%t[fvﬁu Vi non-périodique

B t

- %((ga?t) W 4&%( W Lodle Eﬁ e
/&L ALTNNL, N " zat /wm W Qe Laa
e

%M 2 _L07
(e @mﬁo@wﬁ/& /a%m@ M B
/u@(tﬂ%)f [+ A (6T (t+)3)

= |¥ Loz (LTt + 2I)
= |+ e LT )= Ay (t)

Solution #2
el £ 3 (e-3) + 3 (D) At
e Cﬂ%_}( )

e
ZQW ﬁi%%
%@) s ,w(?g Wm( D= e 7%

4= () W(R) =

AWWMWW 5 D, wz?;

=7

7/




Solution #3

e




Solution #4

(y ool | |z N
Gu || O \L%eeww 0.57064/61.19° |0.3550/1100)°
Ge Il O 114966 /-127.7° 0.5 7064 1=6119°10. 356D [ =110.1°
N [ | e
Gm ||0.2593/74:62° | 0. 2048 [ 102.4°
Gem | 02593 /-7462° |0, 20451 -(02.4°

|G
A
] . 1 . ®
R NN I 5 5 T S il
l%o"T‘ﬁ'(’:""
e s Bl b e el
: ;'l{asqslr%[k}lz]
:l’w’

(b) W12 Pp% 5. 416bbb
|@0[a+ R]G,la“rc?\’ @312+;{j&3)2+ Q\IGqI‘? +2! 66.{2

\.-f‘\v%—’

. S——

4, 4(67?5?5% Pe
5.071219< 4 Py

5, BRSJ\bw s
54577 >L[|-£ Pg_

. do honde wet dore ik bz
(¢) On Jasdpymmit

ety 14 o & L & 1 & | 2
Call O | 2.9732 | 14128 | 0.7 | 0.5186 | 0.4096
941 ol 55 P Y Y ¢ o

z

S



